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Current Affairs & Mental Ability Test  
Mandatory Test – XXI  - SOLUTION  

 
1. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. The shadow of a pole with the height of 8 m is 6m. If the shadow of 
another pole measured at the same time is 30 m, find the height of the 
pole?  
8 kP ePsKs;s fk;gj;jpd; epoypd; ePsk; 6 kP. mNj Neuj;jpy;> 30 kP epoy; 
Vw;gLj;Jk; kw;nwhU fk;gj;jpd; ePsk; vt;tsT? 
Sol: 

 Let the required height of the pole be ‘x’ m. 

Height of pole in m 8 x 

Length of shadow in m 6 30 
 

 Height of the pole and its shadow are in direct proportion 

    1 2

1 2

x x

y y
  

   
8

6 30

x
  

   x
8 30



5

6
 

   x = 40 

  Height of the pole x = 40 
 

B. Convert 
10624  to base 5. 

10624 I Ie;jbkhd vz;zhf khw;W. 

Sol: 
 Go on dividing by 5 and get the remainder. 
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        Therefore 

10624  = 
54444  

 
2. The barrel of a fountain-pen cylindrical in shape, is 7 cm long and 5 mm in 

diameter. A full barrel of ink in the pen will be used for writing 330 words on 
an average. How many words can be written using a bottle of ink containing 
one fourth of a litre? 
7 nr.kP ePsKs;s Xu; cUis tbt ik FLitapd; tpl;lk; 5 kp.kP MFk;.  
ik KOikahfTs;s cUisiaf; nfhz;L ruhrupahf 330 thu;j;ijfs; 
vOjyhk;.  xU ypl;lupy; ehd;fpy; xU gq;F ik xU ghl;bypy; cs;sJ 
vdpy;> mjidg; gad;gLj;jp vj;jid thu;j;ijfs; vOjyhk;? 
 
Sol: 
Length of the pen (h) = 7 cm 

Radius of the pen (r) = 
5

2
mm 

= 
5

2 10
cm


 

= 
1

4
cm  

Volume of the barrel of a pen = Volume of the cylinder  
= 2r h  cu.units 

= 322 1 1
7

7 4 4
cm    

= 311

8
cm  

=
11

8 1000
litre


 

For 
11

8000
litre, writing words = 330 

For 
1

4
litre, No. of writing words 

  
1 11

330
4 8000

   

  
330 8000

4 11
   

  30 × 2000 = 60,000  
  Number of words = 60,000  
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3. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. The adjacent sides of a parallelogram measures 34 m, 20 m and the 

measure of one of the diagonal is 42 m. Find the area of parallelogram. 
Xu; ,izfuj;jpd; mLj;jLj;j gf;fq;fspd; msTfs; 34kP> 20kP kw;Wk; 
mjd; xU %iytpl;lj;jpd; msT 42 kP vdpy; me;j ,izfuj;jpd; 
gug;igf; fhz;f. 
Sol: 

 Let a = 20 cm 
 b = 34 cm  
 c = 42 cm 

 2

a b c
s

 
  

   
20 34 42

2

 
 = 48cm 

    ( )ar ACD  ( )( )( )s s a s b s c     

  48(48 20)(48 34)(48 42)     

  = 336 cm2 

  Diagonal of II divides it into two congruent triangles 
 

  So ( )ar ACD = ( )ar BAC  

  ar (Quad ABCD) = 2 × 336 
     = 672 cm2 

 
B. The volume of a cylindrical water tank is 61.078 10 litres. If the diameter 

of the tank is 7 m, find its height.  
xU cUis tbt jz;zPu; njhl;bapd; fd msT 61.078 10 ypl;lu; MFk; 
njhl;bapd; tpl;lk; 7 kP vdpy;> mjd; cauk; fhz;f.  
Sol: 
 Let r and h be the radius and height of the cylinder respectively.  

 Given that,  
      volume of the tank  = 61.078 10 = 1078000 litre  

= 1078 m3  (since 31
1 

1000
l m )  

              diameter = 7m gives radius = 
7

2
m  

      volume of the tank  = 2r h  cu. units  

 1078  
22 7 7

7 2 2
h     

Therefore, height of the tank is 28 m. 
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4. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 
A. A ground is in the form of a circle whose diameter is 350 m. An athlete 

makes 4 revolutions. Find the distance covered by the athlete. 
xU tpisahl;Lj; jply;> 350 kP tpl;lj;Jld; $ba tl;l tbtpy; cs;sJ.  
Xu; Xl;lg;ge;ja tPuu;> mj;jpliy ehd;F Kiw Rw;wp tUfpwhu; vdpy;> mtu; 
fle;j njhiyitf; fzf;fpLf. 
Sol:  
The diameter = 350 m 

So, the radius = 
350

2
 

The circumference which is the distance 
 of one revolution taken = 2 r  

 = 
22

2 175
7

   

 = 1100m 
 the distance covered in 4 revolutions 
 = 4 × 1100 m 
 = 4400 m 
 The distance covered = 4400 m 
 

B. If the total surface area of a cone of radius 7 cm is 704 cm2, then find its 
slant height. 
704 r.nr.kP nkhj;jg; Gwg;gug;G nfhz;l xU $k;gpd; Muk; 7 nr.kP vdpy;> 
mjd; rhAauk; fhz;f. 
 
Sol: 
Given that, radius r = 7 cm  
Now, total surface area of the cone ( )r l r   sq. units  

                    T.S.A. = 704 cm2  

                        704 
22

7( 7)
7

l    

     32  = l + 7 implies l = 25 cm  
Therefore, slant height of the cone is 25 cm. 

 
C. Convert 

540324 to base 10 

540324 Ig; gj;jbkhd vz;zhf khw;W. 

Sol: 
 

540324 4 3 2 1 04 5 0 5 3 5 2 5 4 5           

2500 0 75 10 4      
= 258910 


